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The question paper comprises two Sections, A and B. You are to attempt
both the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.



(viii) Question numbers 19 to 24 in Section A are five-marks questions. These
are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

K IRIIC |
SECTION A
1. &, C4Hyph 3 § Fgaaisl a4l i g fafau | 1
Write the number of covalent bonds in the molecule of butane, C4H;.
2. YTegHad (YASiHA) i GHAT aTel &l | Stal o A faRaw | 1

Name two simple organisms having the ability of regeneration.
3. fFfiIfiad § ¥ A dcd BN @13l oh fgdid gl &R W Ed 8 ?
qETER, U, STeRTg 1

Which of the following are always at the second trophic level of food
chains ?
Carnivores, Autotrophs, Herbivores

4.  Torelt IO UV % T 3781 o HHTR ATfdd JehrT fohter < TTd wrafad foptor
&1 99 2 % U fomwr @ e 39 R@ W 3TYad hiv R qdadd
IV WS | 2

Draw a ray diagram to show the path of the reflected ray corresponding
to an incident ray of light parallel to the principal axis of a convex mirror
and show the angle of incidence and angle of reflection on it.

5.  TTohideh HETEAT 1 HUING Yo" F1 AEeIH 3 ? IH: ST 3T I: 501,
T H U 39 fh8 sHagR ° AT 98X HEd 8 ? Rl <IN | 2

Why is sustainable management of natural resources necessary ? Out of
the two — reuse and recycle — which, in your opinion, is better to practise ?
Give reason.

6. & fafouar & =0 aewd g ? 9 TI IS W&V G A H g
EEIE 2

What is meant by biodiversity ? List two advantages of conserving forests
and wild life.
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BIEgIRTeA! h! ToRet TH sj@a sl AW 3R I5eht A= ¥ foifaw feeh @
gIggia shl Teho AR Trvd Bt B | Tohem ATsham Y rawaes I1d
fafgu | 39 =d =1 ud g TEES T fof@ent STHfshan o STfiehreh

Td IAIE o Al 1 Ioid hifoT |

Write the name and general formula of a chain of hydrocarbons in which
an addition reaction with hydrogen is possible. State the essential
condition for an addition reaction. Stating this condition, write a
chemical equation giving the name of the reactant and the product of the
reaction.

fopet UoehiaTal TR Hralfadfcis 377 § Wg i & af TR qlieon i qh
TS R JUM AT ok I wiegor e fopn 90 2 |

List two tests for experimentally distinguishing between an alcohol and a
carboxylic acid and describe how these tests are performed.

= sty e Anelt o $© aw for MU g e T AT Wi wisewi §
f?zmw%:

A(4), B(9), C(14), D(19), E(20)

(a) 319 ¥ 98 a YA Sraeh dTeray Sie # T Soiddb & | 39 axd 6l
soraerd fomama oft fafau |

(b) 3TH ¥ HH-H T T Teh & AU o & ? I I T HRU JRAT |

(c) T ¥ M- g T Toh & ad & ? 31 gHl § & Topeeh! TaAT] B
wgIR?

Given below are some elements of the modern periodic table. Atomic
number of the element is given in the parentheses :

A4), B(9), C(14), D(19), E(20)

(a) Select the element that has one electron in the outermost shell.
Also write the electronic configuration of this element.

(b)  Which two elements amongst these belong to the same group ?
Give reason for your answer.

(c) Which two elements amongst these belong to the same
period ? Which one of the two has bigger atomic radius ?
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10. TTHTY] ShHTH 16 o Ao 1 IGTEW Tiohl TIE hIfT fob MYk ommed ameft #
Torell o< T T 3W T o WA & S [IaTE ¥ fohm yehR drafeaa
gia1 & aon foRe awa < TRUTY] ShETh oh STMYR W 3IHeh! TAINhdl fohdl bR
gftenfora shi STt # | 3

Taking the example of an element of atomic number 16, explain how the
electronic configuration of the atom of an element relates to its position
in the modern periodic table and how valency of an element is calculated
on the basis of its atomic number.

11. feuTu am@ | A, B 31 C =l Yg=THT 3T Jcdeh 1 Ueh-Ush 1Y fIfgy | 3
®L0)
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IR TRR H THU Tl H e SR | 3 Uy [t @6 oee % @
ATHT T H&Y § 3@ T |

List four categories of contraceptive methods. State in brief two
advantages of adopting such preventive methods.

TURE T Bd 3 ? TIE HINT foh i A i ared Stal | digt &t digt
Fafd H ORI hl H&AT fohdl TR THH &1 Tl @ |

What are chromosomes ? Explain how in sexually reproducing organisms
the number of chromosomes in the progeny is maintained.

feafafga =1 T hifsw -
(a)  SATd-3gWaH

(b)  TTepieh ST (TH)

Explain the following :
(a)  Speciation

(b) Natural Selection

T & [ Teh-Ush 3801 oo, I shifoie fop feforftaa fopm s Sfiai
% foshra & a1 ° THTOT SRd R B

(a) EESTG AT

(b) HHEY T

(c)  Siamew

Explain with an example for each, how the following provides evidences
in favour of evolution in organisms :

(a) Homologous organs
(b)  Analogous organs

(¢) Fossils

TeRTST oh WehIUH hi TERIAT § FATH/HIATE a1 SIel o T0F I o 0 H 3=
Tdld 819 o ShRUT Shl AT iU |

With the help of scattering of light, explain the reason for the difference
in colours of the sun as it appears during sunrise/sunset and noon.
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17. 5 cm $ATS I g o7 10 cm $ihd g & el 3Ead o8 & q&I 318 %
wverard feord 8 | Jfe o o wehTiRies g | foret sl gt 20 em @, 1 <E G
TN ek o8 g &+ Sidfoes i feafa, wehfa ot amew fgifa Hivw | 3
An object of height 5 cm is placed perpendicular to the principal axis of a
concave lens of focal length 10 cm. If the distance of the object from the
optical centre of the lens is 20 cm, determine the position, nature and size
of the image formed using the lens formula.

18. Sa-FArfiwwiy i sNa-A-iweia qeet & 9 Tds &1 Th IS T
favea HiIfST | 37 @1 oTeal § qfiEdd i FEl SFRT e 99iatyl &l = 6
o, safr sta-Fefewfia smferet & e 3 § 2791 dhd B | 3

Differentiate between biodegradable and non-biodegradable substances
with the help of one example each. List two changes in habit that people
must adopt to dispose non-biodegradable waste, for saving the
environment.

19. THa 99 H vgnft aiE o1 AW fafew | 39 gfee W w1 9w fafew s
Fgreee § gt Uil b il gt g o RO I Bl B | 3@ AW H
fifed safwal ol gease <@ b4 o e fopm Jobr & <idi 1 STawehar gl
3?
1er At et # oifqm dfh § 93 g, sieg W o vl B T T 4w
91T AT | S & et aeied i uar =o I8 ham | =wen i, b @
Tg! Ufth H SST B3 I3 B A& ¥ AU €I SgaT1 AT ? THH qid &l
A Hie 18 W T o U QIR B T | 31§ 78T Dl sAhels W o
TN T G@TE o A | A SEH e HElGd A A& % HIAI-fuar @l Hew
Ior fob o Sfter & 318 o A= 1 W FHE |

3Tk T % ged H, fmfaRea geAi & W v 5
(a) o1& Torm gfee g & fifea B 2 39 QW & &g & T fohg YR

g 39 foman STan 2 2
(b) TRIEh HEIGd SR WM g1 YERId Hedl S Ieei@ iy |

(c) 39 ToRIX § & &l Wigh Waled R FmH o fid 3191 Fasial
feh® ThT Sehe KTl TR 2
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21.
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Write the importance of ciliary muscles in the human eye. Name the
defect of vision that arises due to gradual weakening of the ciliary
muscles in old age. What type of lenses are required by the persons
suffering from this defect to see the objects clearly ?

Akshay, sitting in the last row in his class, could not see clearly the
words written on the blackboard. When the teacher noticed it, he
announced if any student sitting in the front row could volunteer to
exchange his seat with Akshay. Salman immediately agreed to exchange
his seat with Akshay. He could now see the words written on the
blackboard clearly. The teacher thought it fit to send the message to
Akshay’s parents advising them to get his eyesight checked.

In the context of the above event, answer the following questions :

(a)  Which defect of vision is Akshay suffering from ? Which type of
lens is used to correct this defect ?

(b)  State the values displayed by the teacher and Salman.

(c) In your opinion, in what way can Akshay express his gratitude
towards the teacher and Salman ?

fordt o <A1 &maT O 41 aTc9d B 2 38k S.1. ATk <ht aitumT faRau |
mwaﬁ'ﬁAﬁTB%ﬁﬂﬁtﬁwwm:+10cm3ﬁT—locm
8 | 1 i ol oht SRR faRae o ewar st ST | 7 gHi 5 | e oiw @
forefl fore 1 <1 @ 8 cm gl W WA W IFHT AW HR srrafiia yfafers
T 2 A9 I hT e & foIu weh fomtor s i |

What is meant by power of a lens ? Define its S.I. unit.

You have two lenses A and B of focal lengths +10 cm and —10 cm
respectively. State the nature and power of each lens. Which of the two
lenses will form a virtual and magnified image of an object placed 8 cm
from the lens ? Draw a ray diagram to justify your answer.

10 cm I8 G % FoRHT 3T 8 % MY HET & il SO § T fodl T
8 | 91 U8 T 30 em g W e foret =1 qu wftifers s91 Hehel 8 2 3194 I
$1 gfee & fore weh foptor sm@ difem |

1S 4 cm T 0 20 em B g o foRE 3@ o8 % T 319 o AREEq
@l g | fore 1 o 8 gl 15 cm @ | Widfears sl wepld, feafa s |mse A
HIT |



One half of a convex lens of focal length 10 cm is covered with a black
paper. Can such a lens produce an image of a complete object placed at a
distance of 30 cm from the lens ? Draw a ray diagram to justify your
answer.

A 4 cm tall object is placed perpendicular to the principal axis of a convex
lens of focal length 20 cm. The distance of the object from the lens is
15 cm. Find the nature, position and size of the image.

22. HSA % TN 7 ¥g FRE YR g TR
(a) e SWTE S7een 9N Bd B,
(b) fafirar Seror T €9 & I BId | 2 5
How do Mendel’s experiments show that the

(a)  traits may be dominant or recessive,
(b)  traits are inherited independently ?

23. (a) WME W % 3G FHM H1 AW fARau S yEege & Icared o YAy
g i afad e g | |nfad g o @il fafaw |
(b) UHE HIG & S 0 & 39 9T 1 A1 fAigu Srar

()  frv=e g g,
Gi) frefua 312 1 Y gar 2 |
TS ST foh ATAT & SRR < ofiaX Yo7 1 9I9r fohd SRR 81T 2 | 5

(a) Name the human male reproductive organ that produces sperms
and also secretes a hormone. Write the functions of the secreted
hormone.

(b)  Name the parts of the human female reproductive system where
1) fertilisation takes place,
(i1))  implantation of the fertilised egg occurs.
Explain how the embryo gets nourishment inside the mother’s
body.

24, HIEF QAT AUATSI ST & Teh TR o a0 § | TTH 7 3k 3 ? T
s 1 gfshan w1 dag d i HIfT | AT FIR T § 3w w1 o =i
& A ? FEAT I AT H TIHTSIhT b1 ITAN BT & I g THEAST hl
el SF 15T | 5
Both soap and detergent are some type of salts. What is the difference
between them ? Describe in brief the cleansing action of soap. Why do

soaps not form lather in hard water ? List two problems that arise due to
the use of detergents instead of soaps.
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26.
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qd
SECTION B

IS B hId hl JAIAATHR Hg! A BIhL oI aTctt TehT9T fohtul 1 9 A9
I o i A & e smfgd @ 8 | 98 T o T WO Wl R
Y IATHFAS T sTadl 8 | JI o 37=d H, AT 1 vy 3 ¢«
Frafafaa o @ g gofaa fFsps s g =nfge 2

(A Zi= Le<[Zr
(B) /1< Le<[Zr
C) Zi> ZLe>/r

D) “Li=Le>r

A student traces the path of a ray of light through a rectangular glass
slab for the different values of angle of incidence. He observes all possible
precautions at each step of the experiment. At the end of the experiment,
on analysing the measurements, which of the following conclusions is he
likely to draw ?

A Zi=ZLe<Zr

B) Zi< Le<Zr

C) Zi>Le>r

D) sLi=Le>r

HIT T AT IV & A= a1 & fore wie & Fgamer 50 @ g o
areft Jehrer fortor w1 9y IRRad aT 2 | TR TR SRl o1 foavewor s
W 39 e o @ si-an Fsey Fesrermr =nfae 2

(A) Tt foror smafaa femor & mamae Bt 2 |

(B) Tt fepror smafera fereor it feom & fopeft shior g Il R

(C) fria foror o srvafda foptor weh-gel @ gHepIT ST & |

(D) ffa ferror srafee fomor o wesad gt § |

A student traces the path of a ray of light through a triangular glass
prism for different values of angle of incidence. On analysing the ray
diagrams, which one of the following conclusions is he likely to draw ?

(A) The emergent ray is parallel to the incident ray.

(B) The emergent ray bends at an angle to the direction of the incident
ray.

(C) The emergent ray and the refracted ray are at right angles to each
other.

(D) The emergent ray is perpendicular to the incident ray.

10



27.
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i3 B A foame S wamRmen # Gy 7 sEas giu S wiehe gft wd
A THA T (M) GRI SRENTRTen o1 gty fagshl (W) 1 ¥7ee gidfars 98 (S)
T UTH HA 2 | U h BIRH gl Fd R o fau 38 - gl A/

T ?
W
M
W S M
A MW
(B) MS
(C) SW
(D) MW -MS

A student obtains a sharp image of the distant window (W) of the school
laboratory on the screen (S) using the given concave mirror (M) to
determine its focal length. Which of the following distances should he

measure to get the focal length of the mirror ?

(A)
(B)
(®)
(D)

MW
MS

|
A
SW
MW - MS

11
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forelt B 7 = fou T s o g AR Th woll-wifd YH g e Wl
yfafers 9 (S) W Wihfad & & foaw freft gfe (X) &1 3w foham | 3@
Ik (X) o faw=r 4 @&t sem g |

(A)
(B)
©)
(D)

X

k—— 8 cm —)

%WScmW@WWﬁH%I
%WScmW@WW@QﬂT% |
%ﬂ'ﬁﬁ4cm®$€@w3ﬁ?{ﬁ'€%|
I8 Jfh 8 cm BIHH G HT 377 0 2 |

A student used a device (X) to obtain/focus the image of a well

illuminated distant building on a screen (S) as shown below in the

diagram. Select the correct statement about the device (X).

(A)
(B)
(&)
(D)

X

k—— 8 cm —
This device is a concave lens of focal length 8 cm.
This device is a convex mirror of focal length 8 cm.
This device is a convex lens of focal length 4 cm.

This device is a convex lens of focal length 8 cm.

12



29.

30.
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f= a9R A Ictey $o afeerar I g & A R | T A A @ afes &

i feh! T FuTd B
3TT, SIhTehe, ITGTh, HEll, TATER, TR, THue) 1
(A) 3] HR Thiehe
(B) Hll 3R TSR
(C) el iR wehteng
(D) 3T 3R AT

Given below is the list of vegetables available in the market. Select from
these the two vegetables having homologous structures :

(A)
(B)
©)
(D)

Potato, sweet potato, ginger, radish, tomato, carrot, okra (Lady’s finger)

Potato and sweet potato
Radish and carrot
Okra and sweet potato

Potato and tomato

foreht foeneff & Tomn o i & YO 1 Y Dk 3Gk AN 9T I IEEE
T ! el T | I8 YOT & WA I TgaH T 1= & i =t 5978

I  3T<had

II. &9 =

1. sfisos

V. AR

V. e

T4 ¥ HEl 9= 7Y W § 1
(A) I II3RIII

(B) II, III 3R IV

(C) IILIV3IRV

(D) L IILIV3RV

13 P.T.O.
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A student was asked to observe and identify the various parts of an

embryo of a red kidney bean seed. He identified the parts and listed them

as under :
I Tegmen
1I. Testa

III. Cotyledon
IV. Radicle
V. Plumule

The correctly identified parts among these are
(A) I,II and III

(B) IL III and IV

(C) 1II,IVandV

(D) LII,IVandV

A S0 TH T¥: 999l ael 3R AIfSTH gegiass & aitufshan fsor #
ISt AT H HIYNOT F9 THART ST1dT 2 | {16l 99 fHa™ &1 Fefafea 5 9
T 3T B Tohdl @ ?

(A)  ETgA hT G T I FHT

(B) ©IgA ! 3G ST

(C) HTEH ! AHT3 hi FHAT I TGMI

(D) 99 % AFHYU § HEAT AT

While preparing soap a small quantity of common salt is generally added
to the reaction mixture of vegetable oil and sodium hydroxide. Which one
of the following may be the purpose of adding common salt ?

(A)  To reduce the basic nature of the soap
(B) To make the soap neutral
(C) To enhance the cleansing power of the soap

(D) To favour the precipitation of the soap

14



32. I B IR WEAl P, Q, R 3R S T, Y% H W 4 mL 3T T TAhL
TETe! P U Gifgaq gewhe, Q § WA Tewhe, R H hicyem Tche 3 S T
Ffiem dothe I THE AET B Ui § Hieldl | 38 IvErd 98 i
et § ggq & foeea f wuE unn fiemar g | 39 eeft weEfert @t
efl-wifa feam , o8 fie & T o5 st & b aen § 9 o ge

LT & ? 1
(A) P3IRQ

(B) QB3R

(C) P,Q3RS

(D) P,R3MS

A student takes about 4 mL of distilled water in four test tubes marked
P, Q, R and S. He then dissolves in each test tube an equal amount of one
salt in one test tube, namely sodium sulphate in P, potassium sulphate in
Q, calcium sulphate in R and magnesium sulphate in S. After that he
adds an equal amount of soap solution in each test tube. On shaking each
of these test tubes well, he observes a good amount of lather (foam) in the
test tubes marked

(A) PandQ
(B) QandR
(C) P,QandS
(D) P,RandS

33. 9 39 UHIeH ST bl el 3R il fofend o W Sied &, a9 & J&n
B ? 1
(A) aa fers aa & @ 7 R e foens o 8 S g |
(B) A foreny e g1 St 8 o e forena e g war g |
(C) T Toteny e & Sirar 2 3R o foens ot & Srar B
(D) A foTeny Tigg 81 Sran & M e foena fien & war g |

What do we observe on pouring acetic acid on red and blue litmus papers ?
(A)  Red litmus remains red and blue litmus turns red.

(B)  Red litmus turns blue and blue litmus remains blue.

(C)  Red litmus turns blue and blue litmus turns red.

(D) Red litmus becomes colourless and blue litmus remains blue.

31/3 15 P.T.O.
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35.

36.
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BEI ¥ A% # Yopor o fafie =won sl ger+ arelt TAmit TTss] i qeEueel
I GHAT H Y07 S % AT el T |

(a) TATSSI I BIhd P o AT TIeh! F&H TURIISH 1G] F& TURISH H
T forg A o foTT gt T 2
(b) e U gped I TE A H gui & fofw i sma Eifww |

Students were asked to observe the permanent slides showing different
stages of budding in yeast under high power of a microscope.

(a)  Which adjustment screw (coarse/fine) were you asked to move to
focus the slides ?

(b) Draw three diagrams in correct sequence showing budding in
yeast.

9 A9 Teh WEAelt I THifdsh el ookt 3TH HIfea| gEEIN hae e
&, a9 qC g A Segeree % Y g 19 Feherdt @ | 38 1| w1 9w fafag |
39 19 & gheqor < fafyr <1 auig Hifse |

When you add sodium hydrogen carbonate to acetic acid in a test tube, a

gas liberates immediately with a brisk effervescence. Name this gas.
Describe the method of testing this gas.

WW@H%Q@&&TW@H%WW@ 12cm@‘T{3ﬁ—§4cm
ore fore foord 8 | 8 @ 24 om g W OE o gEll 3R 39 fore o dian
icfsrs Teh 96 W &4 @1 ? | 3 A 36 for ol o W $® P o W, A
fors =1 fteor gfafersr 7€ R aed w0 & foqw o o fohm feem & (efg
HIT AT F € ) o 1 B 2 Widfesl o ST T gHR R IWE BT ?

A 4 cm tall object is placed on the principal axis of a convex lens. The

distance of the object from the optical centre of the lens is 12 cm and its
sharp image is formed at a distance of 24 cm from it on a screen on the
other side of the lens. If the object is now moved a little away from the
lens, in which way (towards the lens or away from the lens) will he have
to move the screen to get a sharp image of the object on it again ? How
will the magnification of the image be affected ?
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